SO 18436-2 E&o] WE FALH 9 AeAA 2 Ak
A5, 9o ISEAY Jon

77 219 B4 (150p)

S

2
A FES X+ X,/2+ X,/2=50+15+ 15 = 80um

X,
= Xsin(wt+06.)+ cos{(w,—w,)t+6,—0,}— T&COS {(w,+w,)t+6,+06,}

TOAE 67 58 EA (259p)

Z7| HEOIAM ZIZ0] 100 pm, 10| 102 X SZ7I(BH 2TEE 1,775 rpm)0il CHSHO|, E2t0A¢
(trial shot)22 300 g2l AlEFE =T OIE2REH 2 dijdefoz 90k AX|of HXISHAEY TIZ0]
130 um, ?1Y0[ 60k XAt AIRFE MO LAN Qo 9| F7|2F A(2lH gitigsoz

S5t 2E)E T2 S0 Meitet,

2OAF 104 10 A 297p)

ISO 1735901 7|Z2E0 U=z Al 781 U= 71719 SEfZAl Di=t0[E0| Hot §2& HE5S|

TS £3127

a. Z|A0 oist =2 b. OIOIE XM2| A|ARC] HE
c. A=HXIQ otHN d. Xt AlZt
e. H¢

©@ ® @ e

O X O X Ow
O OO0 O0o0¢@o
X X O X X o
OO X O 0a
X O X X O o



ZOAFEEA 3 (299p, 300p)

(18 : TS A=l
1. ® 2. @ 3. ® 4. ® 5. ®
6.® 7.® 8. ® 9.®

[2% : Giole =]

1. ® 2. ® 3. ® 4. ® 5. ®
6. ® 7.® 8. ® 9. @ 10. @
1. ® 12. ® 13. @

[3% : Ms X2

1. ® 2. @ 3. ® 4. ® 5. ®
6. ® 7.® 8. @,® 9. ® 10. @
1. ® 12. ®

1. ® 2. ® 3. ® 4. ® 5. ®

66 7@ 8@
[5% : HUEE

1® 2@ 3@ 4@ 50
6. ® 7. ® 8. @ 9. ® 10. ®

1. @ 12. ® 13. ® 14. @ 15. ®
16. @ 17. ® 18. @ 19. ® 20. @

1. @ 2. ® 3. ® 4. @ 5. ®
6. @ 7. ® 8. ® 9. ® 10. @
1. @ 12. @



